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Midterm 2— Math 303 (11,/09/21)
SHOW ALL RELEVANT WORK!!!

1. (14pts) Use the Laplace transform to solve the initial value problem
2" =52 +6x=0, z(0)=1, 2'(0)=4+2
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(]z6(pts) Sketch the graph and find the Laplace transform (using step function) of
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4. (12pts) Find the Laplace transform of f(t) = M(?t)
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5. (14pts) Find the inverse Laplace transform of F(s) = —Zm =

34 4 Bsic s+tLSt$\+sQ%>fc>

. A 3}}‘('3*5 s(s +4S+§)

4

(A,‘_%Bg wf.AJrc)s A = ‘f

-~ E) -
2l ( s +4
(—(5\:‘%’ [—S\ fo 'ksﬁrz)‘—rl }

ti[_‘_ e

T
- & o)
5@4{ Fis\sgg' [\ e f]

e2—2s

6. (12pts) Find the inverse Laplace transform of F(s) = <5
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7. (20pts) Use the Laplace transform to solve the initial value problems

Yy =ug(t) 435~ ) —uan(t), y(O)=1, (0)=2
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